GSE Algebra 1
5.2 - Elimination


How Do You Solve a System of Equations by Elimination?
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Solve the systems using elimination. 
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Step 5: 





Step 2: 





Step 1: 





Step 4: 





Step 3:





-6x - 4y = 12


 6x + 15y = 21


Multiply 1st by _____


Multiply 2nd by _____








3x + 2y = -6


2x + 5y = 7





Eliminate x or y? _____ _____

















-6x - 4y = 12


 +  6x + 15y = 21








11y = 33





y= ___





3x + 2(3) =-6


3x + 6 = -6


3x = -12


x = ____











Multiply 1st by _____


Multiply 2nd by _____

















Eliminate x or y? _____ _____
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